SPEED
POMEGRANATES

‘@ Zunex

Strive for your vision

SPARE PARTS CATALOGUE 2025

11/02/2025

WWW.ZUMEX.COM



‘ Zumex

SPARE PARTS CATALOGUE 2025

Valid for all Speed Pomegranate

SPEED POMEGRANATES
| DESCRIPTION COMPOSITION FOTO
FASTENER SUPPORT Fastener support cap (16units)
$3300000:00 CAPS For machines with serial number subsequent to 218197. Caps used as well in reference
$3300100:00
Cleaning brush
$3300002:00 CLEANING BRUSH
Valid for all the serial numbers iy,
Allen Cap M8 (4Units) + Allen Cap M6 (4Units) + Allen Cap M5 (2Units) ‘ ‘ ‘
$3300003:00 SPEED ALLEN CAPS L Y )
Valid for all the serial numbers of Speed ‘ ‘ Q
&
Speed Pro Gearbox cap
$3300004:00 SPEED PIE(; I();EARBOX ‘
Valid for Speed PRO and Speed UP without EW system
Syncronization tool for squeezer gear group . \ =
$3300006:00 SYNCHRONIZATION TOOL A [
Valid for all Essential serial numbers R/
~ }:
K.
2 x security knobs M5x16 Stainless Steel
SI0000700 | SEourNG Knoss
u Valid for all the serial numbers "u'
Peel ejector pivot holder (2units)
$3300061:00 PG PEHELLIIEJJ:;TC;RS PIVOT
Y S (2uts) Valid for all Speed Pomegranate
Shaft seal holder + Shaft seal with stainless steel spring + Silicone joint + Cap (4units) + DIN 912 ]
$3300101:00 | FASTENER W/SCREWS PG [*"® (4un's)

 ZUMex

(11/02/2025)
Pag.2-25




‘ Zumex

SPARE PARTS CATALOGUE 2025

SPEED POMEGRANATES
DESCRIPTION | COMPOSITION FOTO
. . ) . ot
key 10x8x25 + DIN 472 Seeger Ring (2units) + 6007 Bearing 2RS (2units) + Inner separator + ‘
Gear Washer + DIN 127 Washer + DIN 912 Screw + Shaft seal holder + Shaft seal with stainless
$3300112:00 PG BEARINGS SET steel spring + Silicone joint + Cap (4units) + DIN 912 screw (4units) .
Valid for all serial numbers ' '.
Asp Pomegranate Blade holder
$3300135:00 PG BLADE HOLDER
Valid for all Speed Pomegranate
Asp Kit S Pomegranate Blade holder
$3300136:01 PG KIT S BLADE HOLDER |\,.i1 o ol Spoed Pomegranate
* 8 Kit installed
Pomegranate upper plastic pressing (2units)
$3300246:00 PG UPPER FZ’RESSING UNIT
(2uts) Valid for all Speed Pomegranate
PG KIT S UPPER PRESSING Kit S Pomegranate upper plastic pressing (2units)
$3300247:00 UNIT (2uts) Valid for all Speed Pomegranate
* 8 Kit installed
Base rubber
$3300260:00 SPEED BASE RUBBER  |Valid for all the serial numbers of Speed
Machines Speed S PLUS Self Service / UP and Pomegranate 230V with serial number between
420009 and 487582
Black Base rubber
$3300261:00 SPEED BASE RUBBER Valid for machines Speed S PLUS Self Service / UP and Pomegranate 230V, from serial number
487583
PG LOWER PRESSING Pomegranate lower plastic pressing unit (2units)
$3300316:00 UNIT (2ut
( u S) Valid for all Speed Pomegranate

 ZUMex

(11/02/2025)
Pag.3-25




‘ Zumex

SPARE PARTS CATALOGUE 2025

SPEED POMEGRANATES
DESCRIPTION | COMPOSITION FOTO
PG KIT S LOWER Kit S Pomegranate lower plastic pressing unit (2units)
. L
$3300317:00 PRESSING UNIT (2uts) Valid for all Speed Pomegranate
* 8 Kit installed
SPEED FEEDER GEARING Complet feeder gear box + DIN 933 Screw (3uts) + DIN 127 Screw (3uts)
$3300331:00 KIT
Valid for Speed, from the serial number 420009
Speed feeder plate
$3300340:00 SPEED FEEDER PLATE
Valid for all the serial numbers of Speed
Button rubber protection
) BUTTON RUBBER Valid for machines with serial numbgr subsequent to 382494 . .
S$3300591:00 PROTECTION ROUNDED yzaocgége:nzpfgjsgzﬂus Self Service / UP and Pomegranate 230V with serial number between
**For machines previous to 382494 must use the kit S3300850:00
SPEED BUTTON RUBBER Button rubber protection
$3300592:00 PROTECTION Valid for machines Speed S PLUS Self Service / UP and Pomegranate 230V, from serial number
487583
Securing knob (2units) + Silicone joint (2uts)
$3300673:00 PG SECURING KNOB (2uts)
Valid for all Speed Pomegranate
Speed Pomegranate juice container + Gasket
$3300686:01 SPEED PG TRAY
Valid for all Speed Pomegranate
Speed S Plus Self Base + Base Profile + DIN 1587 Nut + Monofase suppressor + DIN 125 Washer
(2uts) + DIN 6798A Washer + DIN 912 Screw M6 + DIN 912 M8 Screw (4uts) + DIN 125 Washer
) SPEED SELF SERVICE M8 (4uts) + Cable cover + DIN 965 Screw (3uts) + Protection profile
$3300693:02 PULPOUT BASE

Valid for machines Speed S PLUS Self Service / UP and Pomegranate 230V with serial number
between 420009 and 487582
* Machines with Pulpout installed

%’ Zumex

(11/02/2025)
Pag.4-25




‘ Zumex

SPARE PARTS CATALOGUE 2025

DESCRIPTION | COMPOSITION FOTO
Speed S Plus Self Base (Black) + Base Profile + DIN 1587 Nut + Monofase suppressor + DIN 125
Washer (2uts) + DIN 6798A Washer + DIN 912 Screw M6 + DIN 912 M8 Screw (4uts) + DIN 125
$3300696:00 SPEED S Pléliss:ELF SERV. |Washer M8 (4uts) + Cable cover + DIN 965 Screw (3uts) + Protection profile
Valid for machines Speed S PLUS Self Service / UP and Pomegranate 230V, from serial number
487583
Speed Pomegranate Base + Base Profile + DIN 1587 Nut + Monofase suppressor + DIN 125
Washer (2uts) + DIN 6798A Washer + DIN 912 Screw M6 + DIN 912 M8 Screw (4uts) + DIN 125
$3300695:00 SPEED POMEGRANATE  |Washer M8 (4uts) + Cable cover + DIN 965 Screw (3uts) + Protection profile
115V BASE
Valid for all machines of model Speed Pomegranate 115V
* Machines with Pulpout installed
ON/OFF Switch with Led+ Silicone protector + NC/NO Switch body
$3300851:00 SPEED PRO SWITCH KIT |Valid for machines Speed Pro, S PLUS Tank and Pomegranate 115V from serial number 420009
For machines Speed S PLUS Self Service / UP and Pomegranate 230V with serial number
between 420009 and 487582 0|
| ON/OFF Switch with Led + separator + Silicone protector + NC/NO Switch body
SPEED S PLUS / UP
$3300852:00 SWITCH KIT Valid for machines Speed S PLUS Self Service / UP and Pomegranate 230V, from serial number
487583
Plate shaft + Shaft seal + Holder Shaft seal + O-ring joint + Security ring DIN 472 + Bearing 6005 «%\
$3300880:00 SPEED SHAFT PLATE KIT [2RS (2uds) * Security ring DIN 471
Valid for all the serial numbers of Speed
Speed Pomegranate Feeder elbow + DIN 916 Screw (2uts) + M5 Cap (2uts)
$3300921:00 SPEED PG FEEDER ELBOW
Valid for all Speed Pomegranate
SPEED PG KIT S FEEDER Feeder elbow Speed Pomegranate KIT S w/Block + DIN 916 Screw (2uts) + M5 Cap (2uts)
$3300922:00 ELBOW
Valid for all Speed Pomegranate with S Kit installed
Speed Pomegranate Inner filter
$3300975:00 SPEED PG INNER FILTER

Valid for all Speed Pomegranate

e ZUmex

(11/02/2025)
Pag.5-25




> TUmex

SPEED POMEGRANATES

| | DESCRIPTION | COMPOSITION | FOTO |

SPEED PRO FEEDER Speed Pro feeder basket

S$3300981:01
BASKET Valid for all machines Speed UP, S Plus and PRO, from the serial number 420009

Clasic feeder articulation assembled

SPEED FEEDER
ARTICULATION W/P Valid for all Speed machines with serial number 353371, 353372, 353373, 353374, 353378 and
subsequents, or machines updated with kit S3301070:00

$3301080:00

220/230V 0.4CV 50/60Hz Motor + Triple wall bypass + Female connection box + DIN 933 Screws
$3301100:01 230V JUICERS MOTOR  |(#Uns) * Triple cable gland

Valid for all the serial numbers of 230V

115/120V 0.5CV 50/60Hz Motor + Triple wall bypass + Female connection box + DIN 933 Screws
(4units) + Triple cable gland + (65 and 70uF) Starter Capacitors + Capacitors support + DIN 7985
$3301115:00 115V SPEED PG MOTOR  |Screw (2uts) + DIN 125 Washer (2uts) + DIN 127 Washer (2uts)

Valid for all Speed Pomegranate 115V

SPEED PRO TAP Speed PRO tap detector + Magnetic detector-PCB cable (TP)

$3301121:01 DETECTOR

Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009

SPEED PRO TAP Magnetic detector-PCB cable (TP)

$3301122:00 DETECTOR CABLE

Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009
®*
S 0s Speed Pro front cover detector + DIN 912 Screw + DIN 6798A Screw + DIN 125 Washer + Pin fast-
. PEED PRO SAFETY  |on
$3301131:01 DETECTOR
Valid for Speed UP, S Plus and Pro Self service model, from serial number 420010
SPEED PRO /S PLUS  |Bus PCD -Speed PRO Keyboard .
$3301161:00 KEYBOARD CONECTION
BUS Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009
-

*UMEX e




> TUmex

SPEED POMEGRANATES

| | DESCRIPTION | COMPOSITION | FOTO |

Orthogonal Reducer 1:40 + DIN 933 Screw (4units) + DIN 1481 Elastic bolt + DIN 127 Washer
(4units) + DIN 125 Washer (4units) + DIN 934 Nut (4units)

$3301212:02 SPEED PG REDUCER 1:40 |Valid for all Speed Pomegranate from serial number 471894

* For machines previous to this serial number is needed to assemble besides the bridle S3301622
* The machines with serial number between 464530 and 467994, needed to change besides the
reducer shaft by S3301713

SPEED PRO KEYBOARD Speed PRO Touchpad + Keyboard module + DIN 965 (6units)

$3301311:00 MODULE

Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009

SPEED PRO JUICE Juice container Detector Speed Pro + Board - Tray connection wire (TR)

$3301371:00 CONTAINER DETECTOR

Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009

SPEED PRO JUICE Board - Tray connection wire (TR)

$3301372:00 CONTAINER DETECTOR
CABLE Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009
Turn Button + Side output lock
$3301516:02 COVER OUTPUT LOCK Valid for Speed Pro machine, from serial number 427322 and for all machines updated with the
references of the front cover $3301503:01
Speed Pomegranate Front cover + silicone profile + Right side output + Left side output + Turn
. Button (2uts) + Side output lock (2uts)
$3301521:01 SPEED PG COVER

Valid for all Speed Pomegranate

SPEED PG FRONT COVER Speed Pomegranate Front cover body + silicone profile

$3301525:00 BODY

Valid for all Speed Pomegranate

SPEED PG LEFT SIDE Speed Pomegranate Front cover left side output + Turn Button + Side output lock

$3301531:01 OUTPUT

Valid for all Speed Pomegranate

* Tumex s



> TUmex

SPEED POMEGRANATES
| | DESCRIPTION | COMPOSITION | FOTO |

Speed Pomegranate Front cover right side output + Turn Button + Side output lock
$3301532:01 S B R onT SIDE

Valid for all Speed Pomegranate

Speed PRO Touchpad
$3301586:00 SPEED PRO KEYBOARD

Valid for Speed Pro machine, from serial number 420009

. |Shaft seal 50x62x7 + Feeder holder Shaft seal + O-ring + DIN 7981B Screw (3units)

sswoonmn | SPEEDPLATE ST

Valid for all the serial numbers of Speed

key 8x7x40
$3301610:00 SHAFT REDUCER BOLT

Valid for all serial numbers

key 10x8x25 (4units)
$3301611:00 SHAFT JUICER BOLT

Valid for all serial numbers

Intermediate adjustable bridle + DIN 1481 Elastic bolt + DIN 7991 Screw (4units) + DIN 125
$3301622:01 ORT REDUCER Washer (4units) + DIN 7984 Screw (4units) + DIN 125 Washer (4units) + DIN 934 Nut (4units)

INTERMEDIATE CLAMP Valid for Speed Pomegranate machines from serial number 471894 and for all Speed UP and S

PLUS 230V from serial number 482220

Blade holder rear Speed Pomegranate + Blade holder rod Quick extraction set
$3301632:00 SPEED P(; SIP.SEE HOLDER

Valid for all Speed Pomegranate

Speed Pomegranate Blade holder rear
$3301636:00 | Sroro ro REARBLADE

Valid for all Speed Pomegranate

> umex Pigs.z



‘ Zumex

SPARE PARTS CATALOGUE 2025

Valid for all serial numbers

| DESCRIPTION COMPOSITION FOTO
d
Metallic lower pressing shaft + key 10x8x25 + DIN 472 Seeger Ring (2units) + 6007 Bearing 2RS
$3301670:00 LOWER PRESSING SHAFT (2units) + Inner separator + Gear Washer + DIN 127 Washer + DIN 912 Screw
Valid for all serial numbers
R
Metallic upper pressing shaft + key 10x8x25 + DIN 472 Seeger Ring (2units) + 6007 Bearing 2RS
$3301690:00 UPPER PRESSING SHAFT (2units) + Inner separator + Gear Washer + DIN 127 Washer + DIN 912 Screw
Valid for all serial numbers
Z10 Reducer shaft + Supplement + key 8x7x40 + DIN 912 Screw + DIN 127 Washer + Gear P
washer
$3301713:00 ORT REDUCER SHAFT
For Speed Pomegranate 230V machines, for all 230V Speed UP and S PLUS from serial number
482220
Z9 Reducer shaft + Supplement + key 8x7x40 + DIN 912 Screw + DIN 127 Washer + Gear washer ./
S$3301714:00 ORT REDUCER SHAFT For Speed Pomegranate 115V machines, for all 115V Speed UP and S PLUS from serial number
482220
Board box + Board box cover + Grey shock absorver (2units) + DIN 7981B Screw (2units) + Profile
$3301720:00 BOARD BOX semiciele
Valid for all serial numbers
Big plastic gear
$3301730:00 BIG PLASTIC GEAR
Valid for all serial numbers
Small plastic gear
$3301740:00 SMALL PLASTIC GEAR
Valid for all serial numbers
Small metallic gear
$3301750:00 SMALL METALLIC GEAR

e ZUmex

(11/02/2025)
Pag.9-25




> TUmex

SPEED POMEGRANATES

| | DESCRIPTION | COMPOSITION | FOTO |

Speed Pro feeder body + DIN 933 Screw (2units) + Plate shaft + Shaft seal 50x62x7 + Feeder
holder Shaft seal + O-ring + Seeger Ring DIN 472 1-47 + Bearing 6005 2RS (2units) + Seeger Ring

$3301782:01 SPEED PRO FEEDER DIN 471 E-25 + DIN 7981B Screw (3units)

Valid for Speed PRO and UP without Excess Water instaled, from serial number 420009, for all
Speed S Plus machines from serial number 478784

Capacitor 16 uF 400V M8
$3301790:01 CAPACITOR 16uF MOTOR

For all 230V machines

(65 and 70uF) Starter Capacitors + Capacitors support + DIN 7985 Screw (2uts) + DIN 125
STARTER CAPACITORS PG |washer (2uts) + DIN 127 Washer (2uts)

$3301793:00 115V

Valid for all Speed Pomegranate 115V

Speed Pomegranate 115V Starter Relay
$3301796:00 STARTER RELAY PG 115V
Valid for all Speed Pomegranate 115V

Speed Pomegranate Right peel ejector
$3301805:00 PG RIGHT PEEL EJECTOR

Valid for all Speed Pomegranate

Speed Pomegranate Left peel ejector

$3301806:00 PG LEFT PEEL EJECTOR

Valid for all Speed Pomegranate

Speed Pomegranate Right peel ejector + Speed Pomegranate Left peel ejector
$3301807:00 PG PEEL EJECTORS SET
Valid for all Speed Pomegranate

Speed Pomegranate Kit S Right peel ejector
PG KIT S RIGHT PEEL

EJECTOR Valid for all Speed Pomegranate
*Kit S Installed

$3301808:00

e ZUmex bag 10-28



‘ Zumex

SPARE PARTS CATALOGUE 2025

SPEED POMEGRANATES
DESCRIPTION | COMPOSITION FOTO
PG KIT S LEFT PEEL Speed Pomegranate Kit S Left peel ejector

$3301809:00 EJECTOR Valid for all Speed Pomegranate
*Kit S Installed
Speed PRO S.S. rear cover + Profile + DIN 125 Washer (4units) + DIN 912 Screw (4units) + DIN
912 Screw (2units) + DIN 9021 Washer (2units) + Allen Cap M5 (2Units) + Allen Cap M6 (4Units)

$3301831:01 SPEED PRO REAR COVER Valid for machines Speed Pro, S PLUS Tank and Pomegranate 115V from serial number 420009
For machines Speed S PLUS Self Service / UP and Pomegranate 230V with serial number
between 420009 and 487582
Speed PRO S.S. rear black cover + Profile + DIN 125 Washer (4units) + DIN 912 Screw (4units) +

PEED § P P REAR DIN 912 Screw (2units) + DIN 9021 Washer (2units) + Allen Cap M5 (2Units) + Allen Cap M6
L .

satesz00 | SPEEPSPLIS U tunis)
Valid for machines Speed S PLUS Self Service / UP and Pomegranate 230V, from serial number
487583

PG FRONT COVER UPPER Speed PG Front cover upper support + Speed PG cover retaining knob

$3301845:00 SUPPORT

Valid for all Speed Pomegranate
PG LOWER FRONT COVER Speed PG Front cover support + Speed PG cover Antisplash retaining knob

$3301846:00 SUPPORT
Valid for all Speed Pomegranate

$3301855:00 GEARBOX Gearbox Reinforcement + DIN 913 Stud (2uts)

REINFORCEMENT PG Valid for all Speed Pomegranate
SPEED PG STAINLESS Speed Pomegranate Stainless steel front cover

$3301875:00 FRONT COVER
Valid for all Speed Pomegranate
Frame protection cover + DIN 7985 Screw (2uts) + DIN 125 Washer (2uts)

. FRAME PROTECTION  |Valid for all machines: -
$3301876:00 COVER Speed S Plus with serial number between 473365 and 490468

Speed Up with serial number between 472658 and 490383 (except the range 488962 - 488999)
Speed Pomegranate until serial number 491384

e ZUmex

(11/02/2025)
Pag.11-25




‘ Zumex

SPARE PARTS CATALOGUE 2025

Valid for Speed Pro, S PLUS and UP machine, from serial number 420009
*Conf. UE

SPEED POMEGRANATES
| DESCRIPTION COMPOSITION FOTO
Frame protection cover + DIN 7985 Screw (2uts) + DIN 125 Washer (2uts)
. FRAME PROTECTION  |valid for all machines: -

$3301879:00 COVER Speed S Plus from serial number 490469
Speed Up from serial number 490384 (included the range 488962 - 488999)
Speed Pomegranate from serial number 491384
Base IEC fuse + DIN 965 Screw (2units) + Fuse 5x20 10A (2units)

$3301910:00 SOCKET BASE
Valid for Speed Pro, S PLUS and UP machine, from serial number 420009

SPEED PG 115V SOCKET Base IEC + DIN 965 Screw (2units)

$3301911:00 BASE Valid for Speed Pomegranate 115V

*Conf. UL
SPEED PG 115V FUSE Fuse Holder + 20A Fuse

$3301912:00 HOLDER Valid for Speed Pomegranate 115V
*Conf. UL
Schuko 90° Power supply cable

$3301920:00 SPEED PRO EU-IEC CABLE

$3301921:00

SPEED PRO UL-IEC CABLE

Schuko 90° UL Power supply cable

Valid for Speed Pro, S PLUS, UP and machine, from serial number 420009
*Conf. UL

Schuko 90° GB Power supply cable

CABLE

S3%01522:00 SPEED PRO GB-IEC CABLE Valid for Speed Pro, S PLUS and UP machine, from serial number 420009
*Conf. GB
Schuko 90° AUS Power supply cable

$3301923:00 SPEED PRO AUS-IEC

Valid for Speed Pro, S PLUS and UP machine, from serial number 420009
*Conf. AUS

 ZUMex

(11/02/2025)
Pag.12-25




‘ Zumex

SPARE PARTS CATALOGUE 2025

Valid for Speed UP, S PLUS and PRO Tank and Self Service, from serial number 420009
**Machine rear view

SPEED POMEGRANATES
| DESCRIPTION COMPOSITION FOTO
Schuko 90° UL Power supply cable Pomegranate
$3301924:00 SPEED PG UL-IEC CABLE |\,.i1 . Speed Pomegranate
*Conf. UL
SPEED PG ELECTRONIC Speed-R2 Module 90-250V (Pomegranate Configuration)
$3301957:01 MODULE
Valid for machines Speed Pomegranate
Juice container profile >
Valid for all Speed PRO Self Service and Tank machines, machines Speed S Plus until serial /
$3301960:00 SPEED PRO TRAY PROFILE |{number 490468, machines Speed Up until serial number 490383 (except the range 488962 -
488999)
The Speed Pomegranate machines until serial number 491383
SPEED PRO IEC- |IEC-Mainboard wire Speed PRO
$3301980:00 MAINBOARD CABLE
Valid for Speed UP, S PLUS and PRO machine, from serial number 420009
SPEED PG 115V [EC IEC-Mainboard wire Speed PG 115V
$3301981:00 MAINBOARD CABLE Valid for Speed Pomegranate
*Conf. UL
SPEED PG FRONT COVER Speed Pomegranate front cover silicone profile ’
$3302005:00 PROFILE
Valid for all front covers of Speed Pomegranate
Latch sheet + Latch fastener + Latch fastener Washer + Latch Spring + DIN 933 Screw (2units) + @@
DIN 125 Washer (2units) + Din 127 Washer (2units) /
$3302012:00 SPEED PRO LEFT LATCH 0 d
Valid for Speed UP, S PLUS and PRO Tank and Self Service, from serial number 420009 0 VD
**Machine rear view o W
Latch sheet + Latch fastener + Latch fastener Washer + Latch Spring + DIN 933 Screw (2units) + %
DIN 125 Washer (2units) + Din 127 Washer (2units) \
$3302013:00 SPEED PRO RIGHT LATCH c
v
[ 4

e ZUmex

(11/02/2025)
Pag.13-25




‘ Zumex

SPARE PARTS CATALOGUE 2025

SPEED POMEGRANATES
DESCRIPTION | COMPOSITION FOTO
Cable cover (52,5mm) + DIN 965 Screw (3uts)
$3302021:01 CABLE PROTECTOR

Valid for Speed UP and S PLUS machine, from serial number 460810
* Check the measure, For bases with 52,5 mm of distance between holes

$3302030:00

SPEED PRO ON/OFF - PCB

Speed Pro ON/OFF - PCB cable

CABLE Valid for Speed UP, S PLUS and PRO machine, from serial number 420009 S
33302040.00 SPEED PRO LED - PCB Speed Pro LED ON/OFF - PCB cable
CABLE Valid for Speed UP, S PLUS and PRO machine, from serial number 420009 \‘
$3302050:00 SPEED PRO CABLE Cable support (4Units) + DIN 912 Screw (4Units) + DIN 125 Washer (4Units) Q ‘
SUPPORT SET Valid for Speed UP, S PLUS and PRO machine, from serial number 420009 «
SUPPORT CABLE |\/5jg for Speed UP, S PLUS and PRO machine, from serial number 420009
DIN 913 Stud M4 (2Units) + Self Service and Tank gearbox insert (2uds) + DIN 913 Stud M6 ’
$3302052:00 SPEED|:§(E)RSTTEE|-L TRAY |(2units) + M10 Speed Pro juice tray Stud .
Valid for Speed UP, S PLUS and PRO Tank and Self Service, from serial number 420009 ' “ ’
Juice Tank gasket
$3302066:00 JUICE TANK GASKET
Valid for Speed UP, S Plus and Pro Self service model, from serial number 420009
Speed Pomegranate Antisplash sheet
$3302072:00 ANTISPLASH SPEED PG

Valid for all Speed Pomegranate

 ZUMex

(11/02/2025)
Pag.14-25




‘ Zumex

SPARE PARTS CATALOGUE 2025

SPEED POMEGRANATES
DESCRIPTION COMPOSITION FOTO
Sweeper frame
$3302096:00 SPEED PG Po-POUT
Valid for all Speed Pomegranate
Motor cover + Motor shaft steel support + Radial Shaft seal + PLastic bearing + Motor spring +
Motor case shaft + Motor coupling + Oval Motor + DIN 6798A Washer (6uts) + Plastic Screw
$3302100:01 S Ph;l-(l)]'? 0’: ::TU;:OC\)IUT (4uts) + Motor box + DIN 125 Washer (6uts) + DIN 7985 Screw (4uts)
Valid for Speed S PLUS and UP 230V machines
Sweeper belt shaft (3uts)
$3302115:00 P T SYSTEM
( Uts) Valid for all Speed Pomegranate
Sweeper belt
$3302116:00 PULP OUT SYSTEM FILTER
Valid for all Speed Pomegranate
PULPOUT SYSTEM FILTER |Sweeper belt cover h
$3302125:01
COVER PG Valid for all Speed Pomegranate
Motor shaft steel + Motor case + Motor coupling + Spring t:g
$3302170:01 PULPOU';:Z:I. MOTOR
Valid for Speed S PLUS and UP machines
Single Phase Suppressor
S3302175:00 PCB-MOggBRLPEULPOUT Valid for Essential PRO Pulpout, Versatile PRO Pulpout, Speed S PLUS and UP 230V machines
* Machines with automatic sweeper installed A
Side output rocker arm
$3302180:00 DARK | SIPF OUTELE ROCKER

Valid for all Speed machines

 ZUMex

(11/02/2025)
Pag.15-25




> TUmex

SPEED POMEGRANATES
| | DESCRIPTION | COMPOSITION | FOTO |

Faucet SPB-F + Tap pusher

$3302230:02 SPEED UP / PG TAP
Valid for all Speed UP / PG
Faucet SPB-F + Tap pusher + Prolongator + Faucet nut + O-Ring

$3302231:01 SPEED UP / PG TAP Valid for all Speed UP / PG machines from serial number 461791 ol
* For previous machines is essential to change also $S3300685 and S330224X 4

Faucet Gasket SPB-F

$3302235:00 ST TAP GASKET Valid for all Speed S PLUS / UP / PG
**Spare part valid for ST Tap $3301236, S3301237, $3301238 and S3301239
Faucet Gasket SPB-F

$3302237:00 ST TAP SPRING Valid for all Speed S PLUS / UP / PG
**Spare part valid for ST Tap S$3301236, $3301237, S3301238 and S3301239
D38 Bottles Support with blockage + Tap pusher

SPEED UP /PG D38
: Valid for Speed UP Conf. Standard from serial number 461791
§3302245:01 BOTTLES TAP SUPPORT [ucror o rc ffom seriat numoer

*Support diameter 38mm
* For previous machines is essential to change also S3300685 and S3302231

Speed S Plus Keyboard Cover

$3302387:00 SPEED KEYBOARD COVER
Valid for Speed UP, S PLUS and PRO machine, from serial number 420009

S PLUS WASTE Podium WIDE waste bucket (50Lts)

$3320023:00
CONTAINER Valid for Speed WIDE podium and JUICE CORNER WIDE

PODIUM NARROW I SLIM Podium NARROW / SLIM waste bucket (55Lt5)

$3320024:00
WASTE CONTAINER Valid for Speed NARROW / SLIM podium

e ZUmex g 1628



‘ Zumex

SPARE PARTS CATALOGUE 2025
SPEED POMEGRANATES

| DESCRIPTION | COMPOSITION | FOTO

Revolving wheel without brake + DIN 934 Nut (4units) + DIN 125 S.S Washer (4units) + DIN 127

SET WHEEL WITHOUT Washer (4units) + DIN 912 Screw (4units)

$3320030:01 BRAKE S.S PODIUM

Valid for all Stainless Steel podium
Podium WIDE, SLIM and JUICE CORNER

Revolving wheel without brake + DIN 934 Nut + DIN 439 Nut + DIN 912 Screw + DIN 125 Washer
SET WHEEL NO-BRAKE |+ DIN 6798 Washer

§3320031:01 PODIUM COLOR

Valid for Podiums of Essential, Versatile and Black podiums of Speed

Revolving wheel with brake + DIN 934 Nut (4units) + DIN 125 S.S Washer (4units) + DIN 127

SET WHEEL WITH BRAKE Washer (4units) +DIN 912 Screw (4units)

$3320040:01 PODIUM INOX

Valid for all Stainless Steel podium
Podium WIDE, SLIM and JUICE CORNER

Revolving wheel with brake + DIN 934 Nut + DIN 439 Nut + DIN 912 Screw + DIN 125 Washer +
SET WHEEL WITH BRAKE |DIN 6798 Washer

§3320041:01 PODIUM COLOR

Valid for Podiums of Essential, Versatile and Black podiums of Speed

Left square + Right square + DIN 912 Screw (4units) + DIN 125 Washer (2units) + DIN 9021

$3320060:00 SPEED BASE SQUARES  |Wwasher (2units)

KIT
Valid for all Speed podium and JUICE CORNER WIDE
INNER PEEL GUIDE ~ |!nner peel guide
$3320075:00
NARROW STAND Valid for Speed NARROW podium
L
$3320078:01 STAND \
Valid for Speed SLIM podium until version 01 \,,_
\\
Q
Peel guide Podium Speed Pomegranate
$3320094:00 PEEL GUIDE SPEED PG |valid for the WIDE podium of machines Speed Pomegranate until version 01
STAND .
* Material - Steel —_p
* Size between the podium holes 352mm (see pic) [131]. 352 1
L i
> TUmex e




> TUmex

SPEED POMEGRANATES

| | DESCRIPTION | COMPOSITION | FOTO |

Peel guide Podium SLIIM Speed Pomegranate

PEEL GUIDE SLIM PG |valid for the podium SLIM of machines Pomegranate until version 01

$3320096:00 STAND j
* Material - Steel =
* Size between the podium holes 330mm (see pic) .110_‘ B g‘
BLACK podium filter

$3320107:00 BLACK PODIUM FILTER

Valid for podium BLACK NARROW and SLIM

MIRROR podium 2 positions filter
$3320108:00 2P BLACK PODIUM FILTER
Valid for podium BLACK WIDE

Left WIDE door (545x365mm) + Magnet door lock + Door Puller + Left hinge + DIN 125 Washer
(2uts) + DIN 912 Screw (2uts) + Separator case

$3320127:00 BLACK | WIDE PODIUM LEFT DOOR
Valid for Speed WIDE BLACK podium
* Sizes (545x365mm)

Right WIDE door (545x365mm) + Magnet door lock + Door Puller + Right hinge + DIN 125
WIDE PODIUM RIGHT Washer (2uts) + DIN 912 Screw (2uts) + Separator case

$3320128:00 BLACK
DOOR Valid for Speed WIDE BLACK podium
* Sizes (545x365mm)

PODIUM BLACK DOOR Podium BLACK Door puller

$3320131:00
PULLER Valid for BLACK podiums

WIDE Podium left door (502x355mm) + Magnet door lock + S.S Rivet (2uts) + BLACK cap (2uts) +
S.S Door Puller + DIN 85 Screw (2units) + Turn rod + DIN 125 Washer (4uts)

$3320132:00 BLACK | WIDE PODIUM LEFT DOOR
Valid for Speed WIDE BLACK podium
* Sizes (502x355mm)

WIDE Podium right door (502x355mm) + Magnet door lock + S.S Rivet (2uts) + BLACK cap (2uts)
WIDE PODIUM RIGHT + 8.8 Door Puller + DIN 85 Screw (2units) + Turn rod + DIN 125 Washer (4uts)

$3320133:00 BLACK
DOOR Valid for Speed WIDE BLACK podium

* Sizes (502x355mm)

 ZUMex ag 1828



‘ Zumex

SPARE PARTS CATALOGUE 2025

Valid for MIRROR and BLACK Bottle Rack

SPEED POMEGRANATES
| DESCRIPTION COMPOSITION FOTO
Bottle cabinet door + Flexible ring + Drawer door + DIN 1587 Nut (4uts) + DIN 933 Screw (4uts) +
BOTTLE RACK BLACK DIN 127 Washer (4uts) + Gate + DIN 963 Screw (2uts) + Bin + Rivet (4uts) + Turning rod + DIN
. L L 125 Washer (4uts)
$3320134:00 BLACK PODIUM DOOR
Valid for BLACK bottle rack podium
Left door + Magnet door lock + Door Puller + Left hinge + DIN 125 Washer (2uts) + DIN 912 Screw
$3320137:00 BLACK NARROWD%%[:UM LEFT |(2uts) + Separator case
Valid for Speed NARROW Black podium
Right door + Magnet door lock + Door Puller + Right hinge + DIN 125 Washer (2uts) + DIN 912
$3320138:00 BLACK NARROW[I:C())ODLUM RIGHT |Screw (2uts) + Separator case
Valid for Speed NARROW Black podium
SLIM Podium right door (502x355mm) + Magnet door lock + Door Puller + Turn rod + DIN 125
PODIUM SLIM DOOR SET - [Vasher (4uts)
$3320139:00 BLACK BLACK
Valid for Speed SLIM podium
* Sizes (505x503mm)
I L T
BLACK PODIUM DOORS Right hinge + Left hinge + DIN 125 Washer (4uts) + DIN 912 Screw (4uts) + Separator case (2uts) - =
$3320146:00 HINGES T -
Valid for BLACK podiums r‘#
S
DIN 912 Screw + DIN 934 Nut + DIN 125 Plastic Washer
$3320147:00 Sl St ‘/
Valid for MIRROR Bottle rack podium
Q
Lock clip magnet door I I
$3320151:00 PODIUM CLIP MAGNET
Valid for S PLUS and UP podium I I
Flexible Ring
$3320460:00 BOTTLE R;:&IéFLEXIBLE

 ZUMex

(11/02/2025)
Pag.19-25




> TUmex

SPEED POMEGRANATES

| | DESCRIPTION | COMPOSITION | FOTO |

BOTTLE RACK BLACK Door Box + DIN 933 Screw (4uts) + DIN 127 (4uts) + DIN 1587 (4uts)

$3320471:00
DOOR BOX Valid for BLACK Bottle Rack

Bin Support + D4 Rivet (Buts)
$3320472:00 BLACK BOTTLE RACK BIN

SUPPORT Valid for BLACK Bottle Rack
Bin Lid + D4 Rivet (2uts)
$3320473:00 BLACK BOTLT|IE)E RACK BIN
Valid for BLACK Bottle Rack
Bin Door + DIN 963 Screw (2uts)
$3320474:00 BLACK BOTTLE RACK BIN

DOOR Valid for BLACK Bottle Rack

BOTTLE RACK BLACK Bottle rack shelves + DIN 933 Screw (8uts)

$3320481:00
SHELVES Valid for BLACK Bottle Rack

Bottles Support D38
BOTTLE RACK BLACK
BOTTLE SUPPORT D38 |Valid for BLACK and JUICE CORNER Bottle Rack
* Bottle support 38mm of diameter

BOTTLE RACKBLACK | - rr ot
$3320492:00 BOTTLE SUPPORT D34.4 |Valid for BLACK and JUICE CORNER Bottle Rack W

* Bottle support 34.4mm of diameter

$3320491:00

Bottles Support D38
CONVENIENCE BOTTLE

SUPPORT D38 Valid for Convenience Bottle Rack podium
* Bottle support 38mm of diameter

$3320493:00

 ZUMex e



SPARE PARTS CATALOGUE 2025

‘ Zumex

Valid for Convenience Bottle Rack podium
* Bottle support 34.4mm of diameter

SPEED POMEGRANATES
| DESCRIPTION COMPOSITION FOTO
CONVENIENCE BOTTLE Pottes Support D3t 4
$3320494:00 SUPPORT D34.4 Valid for Convenience Bottle Rack podium
* Bottle support 34.4mm of diameter
D38 BOTTLE HOLDER D38 Bottle holder flap + DIN 125 Washer (3uts) + DIN 985 Nut (3uts)
$3320495:00 FLAP Valid for BLACK and JUICE CORNER Bottle Rack
* Bottle support 38mm of diameter
D34.4 BOTTLE HOLDER D34.4 Bottle holder flap + DIN 125 Washer (3uts) + DIN 985 Nut (3uts)
$3320496:00 . FLAP Valid for BLACK and JUICE CORNER Bottle Rack
* Bottle support 34.4mm of diameter
D38 Bottle holder flap + DIN 125 Washer (3uts) + DIN 985 Nut (3uts) . 4
$3320497:00 D38 CONVENIENCE FLAP Valid for Convenience Bottle Rack podium
* Bottle support 38mm of diameter
D34.4 Bottle holder flap + DIN 125 Washer (3uts) + DIN 985 Nut (3uts)
$3320498:00 D34.4 CONVENIENCE FLAP

Poster Support + Methacrylate + DIN 965 Screw (2uts)

BLACK BOTTLE RACK
$3320501:00
POSTER SUPPORT Valid for BLACK Bottle Rack
$3320502:00 POSTER SUPPORT
METHACRYLATE Valid for BLACK Bottle Rack
) CONVENIENCE POSTER Poster Support + Methacrylate
$3320503:00 SUPPORT

Valid for Convenience Bottle Rack podium

e ZUmex

(11/02/2025)
Pag.21-25




SPARE PARTS CATALOGUE 2025

‘ Zumex

Valid for JUICE CORNER SPEED

SPEED POMEGRANATES
| DESCRIPTION COMPOSITION FOTO
Methacrylate
sooun | COUENEICEpOTER
Valid for Convenience Bottle Rack podium
SLIM PG inner Inox peel guide e //‘
. INNER PEEL GUIDE SLIM |valid for podiums of machines Speed Pomegranate SLIM BLACK from version 02 X
$3320540:00 PG STAND
* Material - Steel
* Size between the podium holes 300mm (see pic) - g‘
Inox peel guide WIDE / SLIM PG
Valid for podiums of machines Speed Pomegranate WIDE and SLIM BLACK from version 02. Valid
$3320550:00  |Poo- CUIPE SPEED STANDIe jce comven
* Material - Steel = w [
* Size between the podium holes 300mm (see pic) CT; =
JC SPEED Right door + Handle + Screw (4uts)
$3320560:00 JC SPEED RIGHT DOOR
Valid for JUICE CORNER SPEED
JC SPEED Left door + Handle + Screw (4uts)
$3320570:00 JC SPEED LEFT DOOR
Valid for JUICE CORNER SPEED
JC Bottle Rack Door + Handle + Drawer + Screw (6uts)
$3320590:00 JC BOTTLE PODIUM DOOR
Valid for JUICE CORNER bottle rack
JC Door handle + DIN 7380 Screw (2uts)
$3320600:00 JC DOOR HANDLE
Valid for JUICE CORNER
JC SPEED Right side panel + Screw (16uts)
$3320610:00 JC SPEED RIGHT PANEL

o

e ZUmex

(11/02/2025)
Pag.22-25




SPARE PARTS CATALOGUE 2025

‘ Zumex

Valid for JUICE CORNER

SPEED POMEGRANATES
| DESCRIPTION COMPOSITION FOTO

JC SPEED Left side panel + Screw (16uts)
$3320620:00 JC SPEED LEFT PANEL

Valid for JUICE CORNER SPEED

JC SPEED Countertop + Screw (14uts)
$3320640:00 JC SPEED COUNTERTOP

Valid for JUICE CORNER SPEED

Rubber stop + Screw
$3320645:00 JC SPEED STAND BUMPER

Valid for JUICE CORNER SPEED

JC SPEED Front + Screw (14uts)
$3320650:00 JC SPEED FRONT COVER

Valid for JUICE CORNER SPEED

JC SPEED Drip Tray + Screw (8uts)
$3320660:00 JC SPEED DRIP TRAY

Valid for JUICE CORNER SPEED

JC SPEED Drip Filter
$3320670:00 JC SPEED DRIP FILTER

Valid for JUICE CORNER SPEED

JC SPEED Base + Screw (12uts) + Bucket stop + Screw (2uts)
$3320680:00 JC SPEED BASE

Valid for JUICE CORNER SPEED

JC Hinge
$3320690:00 JC PODIUM HINGE

e ZUmex

(11/02/2025)
Pag.23-25




‘ Zumex

SPARE PARTS CATALOGUE 2025

SPEED POMEGRANATES

DESCRIPTION

COMPOSITION

FOTO

$3320702:00

JC SPEED - PG POSTER

JC SPEED Magnetic Support - Pomegranate

SUPPORT MAGNETIC Valid for JUICE CORNER SPEED \

JC Bottle holder Magnetic Support

ssamrao | g0 RACK ST %
Valid for JUICE CORNER Bottle Rack
JC Wide Rear Grill + Right Support + Left Support + Screw (8uts)

$3320710:00 JC SPEED REAR GRILL
Valid for JUICE CORNER WIDE .
JC Bottle Rack Right Cover + Screw (16uts) »

$3320810:00 JC BOTTLEIISQCK RIGHT ’
Valid for JUICE CORNER Bottle Rack !
JC Bottle Rack Left Cover + Screw (16uts)

$3320820:00 JC BOTTL;I;QEACK LEFT ’
Valid for JUICE CORNER Bottle Rack
JC Bottle Rack Rear Cover + Screw (6uts)

$3320830:00 ° BOTTES\I;::K REAR .
Valid for JUICE CORNER Bottle Rack
JC Bottle Rack Countertop + Screw (10uts)

$3320840:00 LT RACK '
Valid for JUICE CORNER Bottle Rack

Y
! Y
) JC BOTTLE RACK JC Bottle Rack Dispenser + Screw (6uts)
$3320850:00 DISPENSER

Valid for JUICE CORNER Bottle Rack

 ZUMex

(11/02/2025)
Pag.24-25




‘ Zumex

SPARE PARTS CATALOGUE 2025

SPEED POMEGRANATES
DESCRIPTION | COMPOSITION FOTO
JC Bottle Rack Door box + Screw (10uts)
s3320860:00 | VO BOTTLE RACKDOOR
Valid for JUICE CORNER Bottle Rack
JC Bottle Rack Door bin + Screw (3uts)
$3320870:00 JC BOTTLEB:?NACK DOOR
Valid for JUICE CORNER Bottle Rack
JC Bottle Rack Ramp bin + Screw (4uts)
$3320880:00 JC BOTTLEB::]ACK RAMP
Valid for JUICE CORNER Bottle Rack
JC Bottle Rack Bin support + Bag lock + Screw (4uts)
$3320890:00 T B o pas BN
SUPPO Valid for JUICE CORNER Bottle Rack P
JC Bottle Rack Base + Screw (12uts)
$3320900:00 JC BOTTLE RACK BASE
Valid for JUICE CORNER Bottle Rack
JC Bottle Rack Rear Grill + Right Support + Left Support + Screw (8uts)
$3320910:00 JC BOTTIE;ERﬁiCK REAR

Valid for JUICE CORNER Bottle Rack

e ZUmex

(11/02/2025)
Pag. 25- 25




